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1. \ i [ If the blue function is f(x)=x2, then the red function must be
Al gx)=x%5 B gX=(x-5)
C gX)=(x+5)* D g(x)=x*+5

2. y= (x — 2)2 + 2 Match the equation to its description.

A Right2 and down 2 B Left 2 and down 2

C Left2and up 2 D Right 2 and up 2

3. g(x)=3f(x-1)-5
Describe the transformation to f(x) that results in g(x).

f(x) has been vertically stretched by 3, f(x) has been vertically stretched by 3,
A _ _ B
translated to the right one and down five. translated to the left 1, and down 5.
c f(x) has only been translated to the right 5 f(x) has been vertically compressed by 3

one and down five. translated to the right one and down five.
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4. ’ DOMAIN?
Al [0, B -2,2
C (_oo’oo) D (_00’0]

9
fx) = ¢ (x+8) -3
A | Stretch of undefined right 8anddown3 | B Shrink of undefined left 8 and up 3

9
Stretchof —
C rern o 5 D Shrink of undefined right 8 and down 3

left 8 and down 3

6. ) (2le) V What is the equation for the parabola?

A y=—(x+57%-3 B y=(x+5)7%-3
2 2

C y=—(x—5)"—-3 D y=(x—-5)"-3
7. What is the equation for the parabola?

(-4 (0:5)

(’5,2)\/:2J

(2.1)

A y=x+2)7°-1 B y=x—-2)7+1
C y=(x—2)7°-1 D y=(x+2)7°+1

https://quizizz.com/print/quiz/63701d44b85234001eecaa57 2/7



11/12/22, 4:56 PM Graphing Quadratic Functions

8. Ifthe avalue is negative, which direction does the parabola open?

A left B down

C up D right
9.  Which of the following will be a parabola that opens down?

Al y=-X B y=3x2

C y =x"-1 D y=-x-1
10.  Which is the vertex of y = x?+ 16x + 71 ?

Al V(-8,7) B V(-8, 3)

C V(8, 10) D V(16, -2)
11.  Find the y-intercepty = x>-6x + 5

A (0, 8) B (O, - 6)

Cl (0,5 D (50

12. What do we call the graph of a quadratic function?

A cubic B parabola
C| sinusoidal D linear
13. TR What is the vertex of this parabola?

A (0,5) Bl (-1.3)

C (2,5 D (=3,11)

https://quizizz.com/print/quiz/63701d44b85234001eecaa57

3/7



11/12/22, 4:56 PM Graphing Quadratic Functions

14, A What are the zeros of the parabola?

A 3, '5 B 3! O
C 1,5 D -6, 1
15. ’ What is the equation for axis of symmetry?

I S
Y

A Xx=5 B X=3

C x=1 D y=3

16. i What are the green dots called?

A axis of symmetry B parabola

C vertex D roots or x-intercepts

17. 4 oL 1 A maximum is the point of the function.
[ aximum y-value

A lowest B highest
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18.

20.

21.

Graphing Quadratic Functions

y=x"-2x-3

x
05412\%\1/4557x
!
-4
-5

lowest B highest

e What is the function that matches the graph?

f(x)=-x"2-8x-2 B f(X)=-xA\2+8x-2

f(X)=-x"2+8x+2 D f(x)=xA2+8x-2

What is the axis of symmetry for the following equation?

y=4x°-8x+9

x=-1 B x=1
x=2 D X=-8
Does

y = -4x?

have a maximum or minimum value?

minimum B maximum
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22.

23.

24,

25.
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(45.907%) The factored form of this quadratic must be

(0.3)
(-1.0) / (10,0)
5 /o 5 \

f(x)=-3(x+1)(x—10) B f(x)=-0.3(x—1)(x+10)

f(x)=—-03(x+1)(x—10) D f(x)=03(x—-1)(x+10)

A parabola is turning upward, its shape is narrow, and its zeros/roots are -5 and 8. Choose
the function that best fits this description.

P(x)=2(x—5)(x+38) Bl K(x)=-.34(x—5)(x+38)

f(x)=—-4(x+5)(x—8) D g(x)=6(x+5)(x—28)

The graphof f(x) = —2(x+7)(x—9) has the x-intercepts of :

x=17 B x=-7
Xx=—2 D x=-9
x=9

x=9 B x=17
XxX=—-8 D XxX=-2
x=28
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Answer Key
1.a

5.c

9.a

13.b

17.b

21.b

25.e
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6.b

10.a

14.c

18.a

22.cC
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3.a

7.d

11.c

15.b

19.b

23.d

4.c

8.b

12.b

16.d

20.b

24.
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